Quick Assessment No. 3.1 - Subtraction

Name:
Roll No.: Std: 5 Division: Date:
Q.1. Find the difference.
a. i b. i C.
6729784 83445670 9900000
- 5317434 - 32987908 - 8819967

Q.2. Fill in the missing numbers and complete the subtraction.

a. b.

Q.3. Find the difference.

a. greatest 7-digit number b. 9 hundred thousand
and smallest 6-digit and 9 lakh
number
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c. 2 million fifty and 9 lakh
sixty



Q.4. Solve these story problems.
a. In an election, total 1,75,501 votes were polled. There were two candidates Amar

and Anil. Amar got 98,823 votes. How many votes were polled in favour of Anil?
Solution:

b. In a cold storage, there were 86,40,450 kilograms of potatoes. If 64,22,820 kilograms
of potatoes were sold, then how many kilograms of potatoes are left in the cold
storage?

Solution:

Q.5. Frame simple subtraction word problem for 2,35,700 — 95,690 and then solve.
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Q.6. Solve.

a. 1,97,000 + 1,29,000 - 1,21,000

Solution:

Solution:

b. 2,10,000 — 13,000 + 30,500

c. Tina produced 25,200 ice candies in her ice cream factory. She sold 12,400 ice

candies to Mr Anand and 8,900 ice candies to Mrs Irish. How many ice candies are

left to be sold?

Q.7. Solve.

a. Find the estimated difference to the nearest ten thousand and to the nearest

thousand. Then find the actual difference. Compare both the estimates with the actual

difference. Which is a better estimate?

34,12,870 — 22,99,820

Estimated difference to
the nearest ten thousand

Actual difference

Estimated difference to
the nearest thousand

Ans.
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b. The Farmers’ Market sold 2,42,055 kg rice and 1,83,675 kg wheat. About how many
more kilograms of rice did it sell than wheat? Round the numbers to the nearest ten
thousand to get the estimated difference.

Q.8. Tick the correct option.

a. 10,00,000 less than the smallest 7-digit number is

i. 1,00,000 [ ] i. 9,99,999 [ |
iii. 9,00,000 [ ] iv.o [ ]
b. The difference of the place values of digits 7 and 1 in 7,60,810 is
i. 699,990 [ ] i. 7,00,010 | |
iii. 6,99,999 [ | iv. 7,00,001 [ ]

c. Result of smallest 6-digit number — smallest 5-digit number + smallest 4-digit

number is

i. 99,000 | | i. 1,00,999 [ ]

ii. 91,000 | | iv. 90,000 | |
d. 1,00,000 -1 =

i. 99,999 [ | i. 98,990 [ |

iii. 98,989 [ ] iv. 98,999 [ |

e. The estimated difference of 9,82,776 — 9,69,456 to the nearest ten thousand

is

i. 70,000 | | i. 10,000 | |
iii. 9,000 | | iv. 90,000 | |

Teacher’s remark:
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